Year 2 Maths Activity Mat

Which times table are these
numbers from?

4 6 8 10 12

-
Section 1 Section 2 Section 3
Gina and Milly share out a Fill in the missing boxes: Complete these statements:
bagful of cherries. They each
have 9 cherries. How many were > of 2 is
there -ln the bClg altogether? + ’|5 = 20 ...........................
4 of 12is
20 - = 13
20of 100 ..
) G
e " o ™)
Section 5 Section 7

Addition Pyramid

Add the bottom numbers to find the top number

"

7~

®

Section 4
How many 5ps would you need to make 30p?

Section 8

How many days are in 2 weeks?

How about 4 weeks?

Section 6
If I have 9 socks, and I put them into 5 6
pairs, how many socks will I have left
over?
Show your working out.
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Year 2 Maths Activity Mat: 5

Answers
-

Section 1 Section 2 Section 3 Section 4

Gina and Milly share out a Fill in the missing boxes: Complete these statements: How many 5ps would you need to make 30p?

bagful of cherries. They each

have 9 cherries. How many were % of 2% is 12

there l_n_ the bag altogether? + ’|5 = 20 ...........................

Tofl2is 3
20 - 7 = 13 :
18 2 of 106s . S 6
) G

s " ~ ™)

Section 5 Section 7 Section 8

Which times table are these Addition Pyramid How many days are in 2 weeks?

?
numbers from: Add the bottom numbers to find the top number
4 6 8 10 12
2x table 14 days

- g 1 How about 4 weeks?
a N

Section 6

If I have 9 socks, and I put them into 5 6

irs, h ks will I have left
palri, ow many socks will I have lef 28 days
overs
1 Show your working out.
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